_Lesgm 35 A

'(§§5. ¢ @

b Fioy=4¢
£ dx = Y=} v
\jiﬁ)ii" ) CFurry
/‘/éf“wreoo S ‘
WVU&{‘ 3:“0(’9
| Owar fa,b]
%‘F@&)MMW'FM& e, TEX)= *F(?j
thon S‘ﬂ")d" = 5{5 { 6Odx 2
—H—
ﬁ fo
96 (Ko @{M'F"”‘ le, 'F('X) -—-—F@

thes 5 ’%90()(__




-5
= V7 Ixldx +Sb 4o g
~, S a
2\ 1xldx — O

i 7 %& o o CbT Hocfloe i . (g
== eax = £
pa 3, TOx = £()







W M%é aAilidpsitizg ‘6‘1"@
d_ | /
4 {F(&(x}ﬂg: Flao) 3= £ 469)q 6

. S-F( (%) 4T9dx < Fi O C =1 +C = 1l L
3 3 . @ C j W) dy f

Sttt fule :

S'F(a(%))gf(x)dx :j'ﬁ@ﬂ{%) whore

g










